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1R� $UWLFOH�1R� 'HVFULSWLRQ
� 723����� F\OLQGULF�VFUHZ�',1������0��[�������Y]�
� 723����� VHDOLQJ����[�����[���
� 723����� JXLGLQJ�VWULS�7XUFLWH���[���[���
� 723����� EDVLF�H[HFXWLRQ�'���
� 723����� VXSSRUW�SLVWRQ��������W�7.�������
� 723����� JUHDVH�QLSSOH�5�����',1�������$
� 723����� UHOHDVH�VFUHZ�5�����71����//5
� 723����� SLVWRQ�URG�KDUG�FKURPLXP�SODWHG����I�[����
� 723����� VHDOLQJ�IRU�VORW�ULQJ�8���������[���[�
�� 723����� JXLGLQJ�VWULS����[���[������7XUFLWH
�� 723����� VOLSSLQJ�ULQJ�6$����[���[�
�� 723����� WKURWWOH�VFUHZ�����/5�206DOHQ�VFUHZ�0��DQG�QR]]OH����
�� 723����� VHDOLQJ�ULQJ�$��[��[����&X�',1�����$
�� 723����� VHDOLQJ�VHW�IRU�VXSSRUW�SLVWRQ�G������SF�
�� 723����� VHDOLQJ�VHW�IRU�EDVLF�H[HFXWLRQ����SF�
�� 723����� F\OLQGULF�VFUHZ�',1�����0��[���Y]�
�� 723����� VHDOLQJ�ULQJ�$��[��[����&X�',1�����

723����� VXSSRUWLQJ�VKHHW�PHWDO
723����� VXSSRUW�PHWDO�OHIW��


